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NCERT Solutions for Class 6 Social Science
Geography Chapter 1 Multiple Choice Questions

Choose the correct option to complete the statements given below:
(i) Full moon night occurs once every..........

(a) day

(b) 15 days

(c) 20 days

(d) month.

(i) The Hindi word for the New Moon night is ..........
(a) Amavasya

(b) Krishna Paksha

(c) Poornima

(d) none of these.

(iii) The sunis ............

(a) a star

(b) a celestial body

(c) the head of the solar system
(d) all of these.

(iv) Ursa Major is a/an
(a) star
(b) constellation

(c) galaxy
(d) asteroid.

(v) Which of these was a planet till 2006 but is now a “dwarf planet™?
(a) Neptune

(b) The Sun

(c) Pluto

(d) Solaris.

(vi) The term “Blue Planet” indicates the presence of
(a) land

(b) water

(c) oxygen

(d) all of these.

Answers:

(i)—(d),



(il—(a),

(iiiy—(d),
(iv)—(b),
(V)—(©),
(vi)—(b).

Fill in the Blanks.
Fill in the blanks with appropriate words to complete each sentence:

The Amavasya night occurs about ........... days after the Poomima night.
Stars are celestial bodies that are ........... and .............

The planets do not possess theirown ........... and ............

The Small Bear constellation is better known as the .............

The Greek word which is the origin of the word “planets” means .............
Three planets having rings around themare ............, .......... ,and ............
........ are elongated fixed paths in which a celestial body always remains.
Venus is similar to the earth iniits .......... and .............

The shadows on the moon’s surface aredue to ........... e ,and ............
0. Meteoroids heat up and bum due to ............
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Answers:

fifteen

big, hot

heat, light

Saptarishi

wanderers,

Jupiter, Saturn, Uranus

Orbits

size, shape

mountains, plains, depressions
O friction.
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